11”131 (Kl 17’1,131)

Linearized knot diagam

EREEEERREREE

\7_ 7 1 11 9 8 2 10 5 3 8 9

Solving Sequence

17—» 4>310~> — 6 —>5— 90 — — 4 —>> C4,C8,C
A knot diagranﬂ c1 2 Co 8 Cg 6 cs 5 Cy 901111 c3 4 478 H10

Ideals for irreducible component#ﬂ)f Xpar

I = (—9.69653 x 10%5u*® 4+ 1.93812 x 10%%4*? + - .. + 1.36546 x 10°9b + 1.44554 x 10*?,

2.34671 x 10%0u* — 2.31254 x 103%u*? + ... 4 2.59437 x 10%% + 1.06428 x 10*!, u** + 8u*? + - --

I = (—u® — 2u® — 3u® — 50" — 6u® — 10u® — 9u* — 8u® — 9u® + b — 4u — 4
—u? —u® —2u" — 208 —3u® —5ut — 20 —3uP +a—u—2,

w4+ ul® + 3u® + 3u® 4 5u” + Tub + 5u® + 8ut + 3ud 4 5u? Fu+ 1)

* 2 irreducible components of dim¢ = 0, with total 55 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

+ 28u +


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I} = (—9.70 x 103%u*3 4+ 1.94 x 10%3%u*? +
—2.31 X 10%%u*2 + ..
U44+8U42+"‘

1039, 2.35 x 1040443
1041’

(i) Arc colorings

(l)

ayp =
0
ar = \y
1
u
u? + )
—0. 904540u43 + 0.0891368u*2 + -
0.00710130u*3 — 0.141939u42 + -
0.616286u*2 + -
ag =

ag

ud —|—u>

0.855694u%3 + 0.294688u*? +
—0.198202u*3 —

—1.12405u*3 — 0.0401899u:42 + - -
—0.406276u*® + 0.227899u*? 4 - -

—0.232879u*3 + 0.618756u*? + -
0.0121303u*3 + 0.0705266u*2 + -

—0.925125u*% + 0.652168u2 + -
0.107850u* + 0.505554u*2 + -

—0.925125u*% 4 0.652168u*2 + - -
as = \ 0.107850u*? + 0.505554u*2 + - -

0.129802u43 —
—0.112721u*3 + 0.238849u2 + -

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.830501u*3 — 1.97049u*? + -

-+ 42.8937u + 18.2259
0.0959296u42 + -

-+ 6.59355u + 5.72029

<ee 4+ 1.37 x 10390 + 1.45 x
-+ 2.59 x 10%% + 1.06 x
+ 28u + 19)

— 28.1734u — 4.10227
— 5.47040u — 1.05865

— 13.9864u — 18.1892
— 2.68255u + 7.40994
- —8.51213u — 7.37608)
- — 35.9422u — 8.61657
- —10.7610u + 3.51106

-+ 6.55564u + 18.5444

- —16.2508u + 7.52727
-+ 18.8829u + 20.6647

- —16.2508u + 7.52727
-+ 18.8829u + 20.6647

- — 84.2334u — 62.6447



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u +8u*? + .. +28u+ 19
C2 utt 160 + - - + 3928u + 361
€3 utt et o+ 13u+ 1
C4,Cs5,C8 WM ouB 4 —1lu—1
7, C10 WM o —dlu+ 11
€9 ut — B+ e —1
c11 ut F2ut 4 1201




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Co y* 4+ 16y* + - - - 4 3928y + 361
C2 Y 4+ 24y + - — 363932y + 130321
€3 yM =42y . By 1

C4,Cs5,C8 yM 12yt o 3Ty + 1

cr, C1o Y™ — 15y% + ... — 2869y + 121
C9 yM Ty 4 By 1
c11 Yyt —38y* 4. — 96y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.553611 4 0.824772]
a= 0.447859 4 1.1501801
b= —1.49583 — 0.399891

—3.21451 — 2.155951

1.07743 + 2.968581

u = —0.553611 — 0.824772]
0.447859 — 1.1501801
b = —1.49583 4 0.399891

—3.21451 + 2.155951

1.07743 — 2.968581

uw= 0.691309 4 0.8113141
a = —1.341520 + 0.1256411
b= —0.247744 + 0.7907561

4.27651 — 0.418321

5.68762 — 0.897801

u= 0.691309 — 0.8113141
a = —1.341520 — 0.1256411
—0.247744 — 0.790756.1

4.27651 4 0.418321

5.68762 + 0.897801

= —0.749080 + 0.7651001
0.129349 — 1.2225907
0.61597 + 1.728691

5.60971 + 1.020971

7.05881 + 0.213821

—0.749080 — 0.7651007
0.129349 + 1.2225907
0.61597 — 1.728691

5.60971 — 1.020971

7.05881 — 0.213821

—0.358331 + 0.8418351
0.73681 + 1.63006.1
—0.800323 — 0.6564231

—4.31132 — 1.529131

4.89215 + 5.651421

—0.358331 — 0.8418351
0.73681 — 1.63006.1
—0.800323 + 0.6564231

—4.31132 + 1.529131

4.89215 — 5.651421

0.724746 + 0.5011491
0.790041 + 0.2804451
0.212674 — 0.4386031

1.31409 + 0.605931

8.59743 — 3.143851

0.724746 — 0.5011491
0.790041 — 0.2804451
0.212674 + 0.4386031

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il

1.31409 — 0.605931

8.59743 + 3.143851




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.672004 + 0.9092111
—0.118766 + 1.2009901
0.67880 — 1.945111

3.96994 + 5.676121

4.70172 — 5.284401

0.672004 — 0.9092111
—0.118766 — 1.2009901
0.67880 4 1.945111

3.96994 — 5.676121

4.70172 + 5.284401

—0.305333 + 1.0970401
0.502841 + 0.7528921
—0.431064 — 0.1918101

—3.64801 — 0.664131

—0.67434 — 1.823601

—0.305333 — 1.0970401
0.502841 — 0.7528921
—0.431064 + 0.1918101

—3.64801 + 0.664131

—0.67434 + 1.823601

—0.724813 + 0.9045331
—0.048082 — 0.4484921
1.168590 — 0.0348821

—4.81373 — 2.814531

7.83387 + 2.633891

—0.724813 — 0.9045331
—0.048082 + 0.4484921
1.168590 + 0.0348821

—4.81373 + 2.814531

7.83387 — 2.633891

—0.155660 + 0.8196941
—0.50119 — 1.509071
—0.837138 4 0.9138681

—8.09531 — 0.689031

—3.33839 — 2.147171

—0.155660 — 0.8196941
—0.50119 + 1.509071
—0.837138 — 0.9138681

—38.09531 + 0.689031

—3.33839 + 2.147171

—1.035790 + 0.5637451
—1.135220 + 0.2313507
0.457170 — 1.0827901

4.92535 + 7.923221

5.81282 — 4.977071

= —1.035790 — 0.5637451
—1.135220 — 0.2313507
0.457170 + 1.0827901

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

4.92535 — 7.923221

5.81282 +4.977071




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.702097 + 0.9486851
a = —1.230740 + 0.2119241
b= —0.165846 — 1.1758101

5.04402 — 6.543311

5.65027 4 5.816041

u = —0.702097 — 0.9486851
a = —1.230740 — 0.211924]
b= —0.165846 + 1.1758101

5.04402 + 6.543311

5.65027 — 5.816041

u= 0.191318 4+ 0.7865461
a = —0.321704 4 0.3711461
b= 2.20155 —0.831641

1.02150 — 1.919041

—0.873774 — 0.7832961

u= 0.191318 — 0.7865461
a = —0.321704 — 0.3711461
b= 2.20155+ 0.831641

1.02150 + 1.919041

—0.873774 4 0.7832961

u = —0.525867 + 1.0924001
a = —0.400089 + 1.0305901
b= —1.09956 — 1.762641

—2.17094 — 6.607401

—0.69632 4 10.889291

u = —0.525867 — 1.0924001
a = —0.400089 — 1.0305901
b= —1.09956 4 1.762641

—2.17094 + 6.607401

—0.69632 — 10.889291

u= 0.769126
a= 0.807876
b= 0.267033

1.54727

4.67400

u = 1.004830 + 0.7211981
a = —0.817876 — 0.2614351
b= 0.420704 + 1.0600501

5.67789 — 0.234291

7.33450 + 1.574511

u= 1.004830 — 0.7211981
a = —0.817876 + 0.2614351
b= 0.420704 — 1.0600501

5.67789 + 0.234291

7.33450 — 1.574511

u = —0.038388 + 0.7519541
a= 143109 + 0.272491
b= 1.141290 + 0.6181121

0.97471 4 2.657841

—0.64848 — 4.816721




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = —0.038388 — 0.7519541
1.43109 — 0.272491 0.97471 — 2.657841 —0.64848 + 4.816721
b= 1.141290 — 0.618112]
u=0.489616 + 1.1630801
a = 0.051203 — 0.5055291 | —1.75776 + 4.425201 0. — 2.669991
b= —0.89249 4 1.306301
u= 0.489616 — 1.1630801
a = 0.051203 + 0.5055291 | —1.75776 — 4.425201 0. +2.669991

b= —0.89249 — 1.306301

u = —0.634927 4 0.2763401
a= 1.29507 — 0.746841
b= —0.103239 + 0.9185241

0.09044 + 2.106771

3.45567 — 5.290321

u = —0.634927 — 0.2763401
a= 1.29507 + 0.746841
b= —0.103239 — 0.9185241

0.09044 — 2.106771

3.45567 + 5.290321

u= 0.725736 + 1.1150001
a= 0.122771 — 0.8802731
b= —0.87157 + 1.154451

—0.55823 + 5.040121

8.95344 — 5.959601

u= 0.725736 — 1.1150001
a= 0.122771 + 0.8802731
b= —0.87157 — 1.154451

—0.55823 — 5.040121

8.95344 + 5.959601

u= 133218
a= 0.419650
b= —0.343484

2.55385

—14.8810

u= 0.801504 + 1.0726201
a= 0.171221 + 0.9938031
b= 1.18028 — 1.276891

4.52542 + 6.794471

5.00000 — 4.753641

u= 0.801504 — 1.0726201
0.171221 — 0.9938031
b= 1.18028 + 1.276891

4.52542 — 6.794471

5.00000 + 4.753641




Solutions to I}

V=1(vol + v=1C)

Cusp shape

= —0.748515 + 1.1511401
= 0.050409 —1.1311601
= 1.37231 4 1.597021

3.0688 — 14.37231

0.+ 8.232441

—0.748515 — 1.1511401
0.050409 + 1.1311601
1.37231 — 1.597021

3.0688 4 14.37231

0. —8.232441

0.180695 + 1.3800201
= —0.137763 — 0.7044701
= 0.033690 + 0.5579961

—3.28704 + 5.288861

0. —7.018581

= 0.180695 — 1.3800201
= —0.137763 + 0.7044701
= 0.033690 — 0.5579961

>~ & 8| & 8| & 8|l & =
I

—3.28704 — 5.288861

0.+ 7.018581




II.
Iy=(—u"%—2u4-.-4+b—-4, —u?—uf+.--+a—2, u't +u'%+--

(i) Arc colorings

- )

0
ar = U
1
a2: u
u?+1
a3: U/Q
w? + ud + 207 + 2u8 + 3u + 5ut 4+ 2 + 3w +u+2
w9 + 209 + 3ud + 5u” + 6u’ + 10u® + 9u* + 8ud + 9u? + 4u + 4
—3ul® — 249 — 6u® — 5u” — 8ub — 13u® — 3ut — 11ud —4du+ 1
ag = 20 + ud +4u” + 3u8 + 5u® + Sut +ud + 8u? +3
ag = (u Jru)
9+u +2u” +2u6+2u +4u +ud+2u2—u—1
as = \ —u? —ud —2u” — 2u® — 3u® —2ud —4u? —u—2
—uT —ub — u5 ut — u? — 3u?
a9 = \u9 + 30 + 4ud + 74" + 8ub + 120’ + 13u* + 9u + 11u? + du + 4
3ul +4u® + - +8u+5
2ut0 + u? + 5ud + 44" + Tub + 11u® + 4u* + 13u3 + 2u® + 6u + 2
—2u10 — % — 5u® —4u” — Twb — 11u® — 4u?* — 1303 —u? — 6u — 1
—u'® — 2u® — 4u® — 5u” — Tub — 10u® — 10u* — 10u® — Tu? — 6u — 3

—2u10 — ¢ — 5u® — 40’ — TuS — 11u® — 4wt — 13w —u? —6u—1
ag = \ —y!0 —2¢° — 408 — 507 — 7ub — 10u® — 10u* — 10u® — Tu? — 6u — 3

(ii) Obstruction class =1

(iii) Cusp Shapes
= 3ul0 4+ 13u° 4+ 12u® 4 29u7 + 28u’ + 45u® + 59u? + 24u> + 55u2 + 6u + 23

10

+u+1)

)
)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ult + ut® 4+ 3u® 4 3u® + 5u” + Tub + 50 + 8ut + 3ud 4+ 5u? +u+ 1
C2 w5 o —9u—1
s utt —ut® —20% — P 4 20 + 5u® — 2ut 4+ 20 —4u? — 1

C4,C5 w4 0wt 4 500 4+ 5u® + 9uT + 8ub + Tu® + 6ut + 20 + 4u® + 1
6 u' — ut® 4+ 3u® — 3u® + 50" — 7wl 4+ 5u® — Sut + 3w —5u +u—1
7 u't — 200 — 3u® + 8u® — 1068 4 Tu® + 3ut — 6u 4 2u® + 2u — 1
Cs u't — ut® 4+ 5u% — 508 + 9u” — 8ul + T’ — 6ut + 20 — 4u? — 1
€9 ult +4u® + 208 + 20" + 508 — 200 P —2uP w1
c10 w4+ 2610 — 30 — 8u® + 106 + Tu® — 3ut —6ud — 2w+ 2u+1
c11 ult — ut® — 40 + 608 + 40" — 1268 + Tud 4 6ut — Tud — u? + 3u—1

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Ce yt 5yl — 9y — 1
Co gy 11y — 1
c3 gt 5y gy — 1
C4,Cs5, C8 yt 9yl — 8y —1
c7, 10 gt —10y0 4+ 48y —1
oy g 8y By — 1
c11 y't =9y 4 4Ty —1

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.299778 4 0.9278421
a= 0.63272 + 1.537181
b= —1.147890 — 0.4411021

—4.88598 — 1.240771

—7.95477 — 0.131681

uw = —0.299778 — 0.9278421
0.63272 — 1.537181
b= —1.147890 + 0.4411021

a =

—4.88598 + 1.240771

—7.95477 + 0.131681

0.363187 + 0.8934481
0.626586 — 1.2187401
b= 0.332981 + 0.9343821

u =

a =

—7.76852 + 1.521301

0.55594 — 5.614621

uw= 0.363187 — 0.8934481
= 0.626586 + 1.2187401
0.332981 — 0.9343821

—7.76852 — 1.521301

0.55594 + 5.614621

= 0.735549 + 0.9711081
0.249319 — 0.5956291
—1.286840 + 0.1358671

—5.46767 + 2.924761

—5.12520 — 4.543671

0.735549 — 0.9711081
0.249319 + 0.5956291
—1.286840 — 0.1358671

—5.46767 — 2.924761

—5.12520 + 4.543671

—1.27239
0.381829

2.76650

23.9440

—0.535222 + 1.2011701
—0.093193 + 0.7664021
—0.63928 — 1.458671

—1.44280 — 5.489671

2.58502 + 8.739041

—0.535222 — 1.2011701
—0.093193 — 0.7664021
—0.63928 + 1.458671

—1.44280 + 5.489671

2.58502 — 8.739041

—0.127541 + 0.5744721
= 1.39365 + 0.297591

b
u
a
b
u
a
b
u
a
b= —0.0451978
u
a
b
u
a
b
u
a
b= 1.76363 + 0.625121

1.73238 + 2.309881

9.96723 — 2.640551

13



Solutions to I3

V=1(vol + v/=1CS)

Cusp shape

U
a
b

= —0.127541 — 0.574472]

1.39365 — 0.297591
1.76363 — 0.625121

1.73238 — 2.309881

9.96723 4 2.640551

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

c (u' + 0 4+ 3u® + 3u® 4 5u” + Tub + 50 + 8ut + 3ud 4 5u? +u+ 1)
(w4 8ut? - 4 28u + 19)

C2 ('t + 5ut® + - — 9u — 1) (u** 4 16u*® + - - + 3928u + 361)

c3 (' —u'® — 200 — u® + 2uC 4 5u® — 2ut + 2u® — 4u? — 1)
(M 4u® 4 13u 1)

¢4, Cs (' + u® 4+ 5u® + 5u® 4+ 9u” + 8ub + T’ + 6ut + 20 + 4u? + 1)

(Mt 2ut 4 11w - 1)

6 (™ — u® 4 3u® — 3u® 4 5u” — Tub + 5u° — Sut + 3u® — 5u? +u—1)
C(u™ 4 8ut? - 4 28u + 19)

cy (u' — 20" — 3u® 4 8u® — 10u® + 7u® + 3ut — 6ud + 2u? + 2u — 1)
(M = 4lu + 11)

cs (utt — ut® 4 50 — 5ud + 9u” — 8ub + Tu® — 6ut 4 2u3 — 4u? — 1)
M 2ut 4 11w - 1)

Co (ut 4 4u® + 208 + 20" + 508 — 20° + ud — 2u® +u + 1)
(M =~ 14u - 1)

10 (ut 4 2u'” — 3u” — 8u® + 10u® + Tu® — 3u* — 6u® — 2u® + 2u + 1)
(M = 4lu 1)

o (u't — u'® — 40® 4 6u® + 4u” — 1208 + Tu® 4 6ut — Tud — u® + 3u—1)

(w20 4+ 12u—1)

15



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, o (Yt + 5yt - — 9y — 1) (™ + 16y + - + 3928y + 361)
€2 (" 4y 0+ + 1y — 1) (g™ + 24y™ + - — 363932y + 130321)
Cs (y" = 5y" - =8y — 1) (y™ — 42" - — By + 1)

c4,C5,C8 "+ 9"+ =8y — (M 1207 4 = 3Ty + 1)

¢7,¢10 (yH — 10910 + - + 8y — 1)(y** — 15y™ + -+ — 2869y + 121)
© (v +8y" -+ 5y — (™ + 7y + - = Bdy + 1)
c11 (' = 9y" -+ Ty = (y" - 38" - — 96y + 1)

16



